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Exam Name : Sahayyak Matsya Vyavsay Vikas Adhikari (JBRID HRIRIAARI f[ADIA 3iferprl)
Total Questions : 90

Q1. Larva of squilla is known as

Question ID: 104932

OptID: 417530 Opt Option 1: Alima

OptID: 417531 Opt Option 2: Megalopa

OptID: 417532 Opt Option 3: Nauplius

OptID: 417533 Opt Option 4: Veliger

Correct Option : 1

Q2. Denaturation of double stranded DNA involves....

Question ID: 104918

OptID: 417474 Opt Option 1: Breakage into short double stranded fragments
OptID: 417475 Opt Option 2: Separation into single strands

OptID: 417476 Opt Option 3: Hydrolysis of DNA backbone

OptID: 417477 Opt Option 4: Cleavage of the bases from the sugar phosphate backbone
Correct Option : 2

Q3. Contractile filaments used for sensing food in Scaphopoda are known as -----
Question ID: 104876

OptID: 417306 Opt Option 1: Osphradium

OptID: 417307 Opt Option 2: Captucula

OptID: 417308 Opt Option 3: Tentacles

OptID: 417309 Opt Option 4: Antennae

Correct Option : 2

Q4. Chiton is an example of class

Question ID: 104931

OptID: 417526 Opt Option 1: Aplacophora
OptID: 417527 Opt Option 2: Polyplacophora
OptID: 417528 Opt Option 3: Monoplacophora
OptID: 417529 Opt Option 4: Scapopoda
Correct Option : 2

Q5. Write the noun form of 'strong'.

Question ID: 104929

OptID: 417518 Opt Option 1: Stronger

OptID: 417519 Opt Option 2: Strength

OptID: 417520 Opt Option 3: Strongest

OptID: 417521 Opt Option 4: Strongness

Correct Option : 2

Q6. 2024 A UR Uscicl fGeet [demermdica forasudbid ................... AT Ugilol Uds dgdd [Hmacl.
Question ID: 104862

OptID: 417250 Opt Option 1: HIRCIRT SToldl Ul
OptID: 417251 Opt Option 2: 3M1H UGHT TS
OptID: 417252 Opt Option 3: dgSIol HATST UST
OptID: 417253 Opt Option 4: DISA

Correct Option : 2

Q7. Age and maturity are usually the best predictors of in fishes.
Question ID: 104881
OptID: 417326 Opt Option 1: Absolute growth rates
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OptID: 417327 Opt Option 2: Relative growth rates

OptID: 417328 Opt Option 3: Approximate growth rates

OptID: 417329 Opt Option 4: Convertible growth rate
Correct Option : 2

Q8. 5000 BU FECIIAR | 1#2 AU G.A1.6.91. 4% G0l AId d ABMIBL DRI BID fpeil?
Question ID: 104868

OptID: 417274 Opt Option 1: Rs. 2.04

OptID: 417275 Opt Option 2: Rs. 4.80

OptID: 417276 Opt Option 3: Rs. 3.06

OptID: 417277 Opt Option 4: Rs. 8.30
Correct Option : 1

Q9. The heat processing of canned fish is known as
Question ID: 104917

OptID: 417470 Opt Option 1: Pasteurization

OptID: 417471 Opt Option 2: Sterilization

OptID: 417472 Opt Option 3: Disinfection

OptID: 417473 Opt Option 4: Commercial sterilization

Correct Option : 4

Q10. A, B 31If0I C Gb DI 3I6{chdl 20, 30 3MIUI 60 fSTATT DIAASRA BI ol DI D 3R, 3MHUI B d C IRI 62 ferR—=r fgaoft
#AGA DI RIAIET A= o DI el g vt gser?
Question ID: 104854

OptID: 417218 Opt Option 1: 12 f&aa1

OptID: 417219 Opt Option 2: 15 f&aa1

OptID: 417220 Opt Option 3: 16 f&a

OptID: 417221 Opt Option 4: 18 f&aa

Correct Option : 2

Qll.

USATHOURERTT TeheT [ el BT, cOiedela] deeiRH d elaRy Al Eid. Sl ATdl FEcdrd
qFH 05 ATl =Aleial dddle HISEMell dd aldhell. el dieel dalelRaAsl THd Sl e
ATOTRY Aol 1A FEUTe, "HERI Hell ddd a1 =Tel. I Taldl A6 901 IR 9501 T, AT
T ARl THATR? JATERE  FEOEr, A HToAde R0 a4 §d. Tl FaTAYET Hell el
fFaa AT aree. TTemel SRR ST 96 66 AW, ¥ TSl FART 5 3o

Question ID: 104938

OptID: 417554 Opt Option 1: SlID PSPS BIAI AL

OptID: 417555 OptOptionZ:ﬁBl]?ﬂmalTﬂlg?ﬂf\I

OptID: 417556 Opt Option 3: olIdDACAT AIADHCUUIIT

OptID: 417557 Opt Option 4: oIl UIGAT PSDSH Blell.
Correct Option : 2

Q12. The peak breeding season of common carp fish in India is ---------- .
Question ID: 104883

OptID: 417334 Opt Option 1: Summer

OptID: 417335 Opt Option 2: Winter

OptID: 417336 Opt Option 3: Monsoon

OptID: 417337 Opt Option 4: Hot season

Correct Option : 2

QI3. - is one of the larval stages of lobster.
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Question ID: 104901

OptID: 417406 Opt Option 1: Mysis

OptID: 417407 Opt Option 2: Megalopa
OptID: 417408 Opt Option 3: Zoea

OptID: 417409 Opt Option 4: Phyllosoma

Correct Option : 4

Ql4. - is a leading country in export of ornamental fishes.

Question ID: 104891

OptID: 417366 Opt Option 1: USA

OptID: 417367 Opt Option 2: UK
OptID: 417368 Opt Option 3: Singapore

OptID: 417369 Opt Option 4: India

Correct Option : 3

Q15. BIRPIPR 3MIR.P.cIGIAVI 8 IR AT RIGIRBIHG URRIA el

Question ID: 104875

OptID: 417302 Opt Option 1: 3cIcbidAoIHGT

OptID: 417303 Opt Option 2: didcIdol

OptID: 417304 Opt Option 3: SIc3tol
OptID: 417305 Opt Option 4: dSdlol

Correct Option : 2

Q16. Select the correct passive voice transformation of the following sentence. 'One should keep one's promise’'

Question ID: 104860

OptID: 417242 Opt Option 1: A promise should have been kept

OptID: 417243 Opt Option 2: A promise should be kept.

OptID: 417244 Opt Option 3: One's Promise should be kept.
OptID: 417245 Opt Option 4: A promise should have kept.

Correct Option : 2

Q17. Which one is false regarding fish muscles?

Question ID: 104922

OptID: 417490 Opt Option 1: White muscles has many capillaries per cubic millimeter

OptID: 417491 Opt Option 2: Red muscles has many capillaries per cubic millimeter

OptID: 417492 Opt Option 3: Red muscles has high concentration of hemoglobin
OptID: 417493 Opt Option 4: White muscles has less capillaries per cubic millimeter

Correct Option : 1

Q!18. e foRtucRn SIS wictl 3n8. SR fdorrcn SIS a=iet 3118, fdorrc 3oIdias fAdd I ITIr Jcl 318, A2
SIPIAI SIS IAaid Sact BIuT dIel TIct! 3I13?

Question ID: 104853

OptID: 417214 Opt Option 1: AT

OptID: 417215 Opt Option 2: fOR¥TY

OptID: 417216 Opt Option 3: fdoRT

OptID: 417217 Opt Option 4: fdd®

Correct Option : 1

Q19. What is the common english name of Fenneropenaeus merguiensis

Question ID: 104897

OptID: 417390 Opt Option 1: Brown shrimp

OptID: 417391 Opt Option 2: Kuruma shrimp

OptID: 417392 Opt Option 3: Banana prawn

OptID: 417393 Opt Option 4: Tiger prawn
Correct Option : 3
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Q20

TIad=T APl ol HIade HRd ?

P

N

“'-...__________'__,..-"

~— ]

Question ID: 104936
OptID: 417546 Opt Option 1: 24

OptID: 417547 Opt Option 2: 6

OptID: 417548 Opt Option 3: 12

OptID: 417549 Opt Option 4: 20

Correct Option : 1

Q21. What is the scientific name of silver carp?

Question ID: 104920
OptID: 417482 Opt Option 1: Ctenopharyngodon idella

OptID: 417483 Opt Option 2: Catla catla

OptID: 417484 Opt Option 3: Hypophthalmichthys molitrix

OptID: 417485 Opt Option 4: Cyprinus carpio

Correct Option : 3

Q22. The area of EEZ along the west coast of India is

Question ID: 104915
OptID: 417462 Opt Option 1: 0.86 million sq. km

OptID: 417463 Opt Option 2: 0.90 million sq. km

OptID: 417464 Opt Option 3: 0.56 million sq. km

OptID: 417465 Opt Option 4: 1.0 million sq. km

Correct Option : 1

Q23. Fill in the blanks with suitable articles.- Shiva is honest servent in

firm.

Question ID: 104866
OptID: 417266 Opt Option 1: an, a

OptID: 417267 Opt Option 2: an, the

OptID: 417268 Opt Option 3: a,a

OptID: 417269 Opt Option 4: the, the

Correct Option : 2

Q24. The mesh size of Cod end determines the gear selectivity in .................

Question ID: 104885

OptID: 417342 Opt Option 1: Gill net
OptID: 417343 Opt Option 2: Trawl net

OptID: 417344 Opt Option 3: Cast net
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OptID: 417345 Opt Option 4: Longline

Correct Option : 2

Q25. SicTollcdIrlet Rigelrd Ukt ctioll AU ascl' Al dIGIdlel Ul AT 9I6SI AT argildlet 31ef st

Question ID: 104861

OptID: 417246 Opt Option 1: AI=T
OptID: 417247 Opt Option 2: UdI&

OptID: 417248 Opt Option 3: ollcIdlcT 81fdrdI

OptID: 417249 Opt Option 4: TS

Correct Option : 3

Q26. Species of freshwater mussel used for production of pearls.

Question ID: 104902

OptID: 417410 Opt Option 1: Saccostrea cuculata
OptID: 417411 Opt Option 2: Pinctada fucata

OptID: 417412 Opt Option 3: Lamellidens marginalis

OptID: 417413 Opt Option 4: Pinctada margaretifera

Correct Option : 3

Q27. Which word has come as a verb in the following sentences? "Please , water the new plants".

Question ID: 104865

OptID: 417262 Opt Option 1: Please
OptID: 417263 Opt Option 2: Water

OptID: 417264 Opt Option 3: New

OptID: 417265 Opt Option 4: Plants

Correct Option : 2

Q28. The average fish consumption in urban part of India is

Question ID: 104908

OptID: 417434 Opt Option 1: 1 to 2 kg/person/year

OptID: 417435 Opt Option 2: 3 to 5 kg/person/year

OptID: 417436 Opt Option 3: 6 to 8 kg/person/year

OptID: 417437 Opt Option 4: 8 to 10 kg/person/year

Correct Option : 2

Q29. IV 3MeATfCHD 3 AL ... ATl ofDeild e Siicil?

Question ID: 104906

OptID: 417426 Opt Option 1: AdUIcT

OptID: 417427 Opt Option 2: JA[HAUICT
OptID: 417428 Opt Option 3: GAUTT

OptID: 417429 Opt Option 4: JABIUTT

Correct Option : 2

Q30. Interferons are cellular proteins produced mainly in response to ........

Question ID: 104880

OptID: 417322 Opt Option 1: Virus infection

OptID: 417323 Opt Option 2: Bacterial infection
OptID: 417324 Opt Option 3: Fungus infection

OptID: 417325 Opt Option 4: Parasitic infection

Correct Option : 1

Q31. Which chemical is used to control aquatic insects?

Question ID: 104912

OptID: 417450 Opt Option 1: Hi-oxide

OptID: 417451 Opt Option 2: Bleaching powder
OptID: 417452 Opt Option 3: Lime

OptID: 417453 Opt Option 4: Formalin
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Correct Option : 1

Q32. 91161 30T 3f¥cbol Gotietiet ol FeIé I8 [ADPRIRIST YGIDIR Acicic=l I8N AT I AHIAYI GIIET.

Question ID: 104856

OptID: 417226 Opt Option 1: ST

OptID: 417227 Opt Option 2: 3IcII&IHIG
OptID: 417228 Opt Option 3: fAQIRATUZUH

OptID: 417229 Opt Option 4: ferB3IGIAYHA

Correct Option : 4

Q33. Spawning of fishes on water surface is called as ---------- spawning.

Question ID: 104882

OptID: 417330 Opt Option 1: Muffled

OptID: 417331 Opt Option 2: Sympathetic
OptID: 417332 Opt Option 3: Floating

OptID: 417333 Opt Option 4: None of the above

Correct Option : 3

Q34. As I step back into the house, I hear the sound of a car drawing up.(Make simple)

Question ID: 104872

OptID: 417290 Opt Option 1: Stepping back into the house I heared the sound of a car drawing up.

OptID: 417291 Opt Option 2: Stepping back into the house, I hear the sound of a car drawing up.
OptID: 417292 Opt Option 3: Stepping back into the house I was listening the sound of a car drawing up.

OptID: 417293 Opt Option 4: Stepping back into the house I have heard the sound of a car drawing up.

Correct Option : 2

Q35.

T el HTTeaTell FHodd ATeld. SO I GRadell T HTGedrell T Adl. WY FOT IHal@idedi
HIYOT = HTHR ATfel IMeaid. SN0 HAT Hgy HTodl Iohl Sl sldlel AT HTell TUROT §sel.
FEU[A TN AERICIAT Gl SRATCOTRT HIVH HATTedleldes HAMET 3 died 3T, HRLATEX 1T HefT
WAl &7 o HTTedTell dAisTell ofETeell ST grRgdal. HTIeT XA el [Ead Al Ioc Aol
T deRAA T dled A7

Question ID: 104937

OptID: 417550 Opt Option 1: GV GRAIIUIRI SIAw GIAIMI.

OptID: 417551 Opt Option 2: UcIdbIol 32Tl ureloll wrdt

OptID: 417552 Opt Option 3: GI¥ GRATAVIRT SId AT
OptID: 417553 Opt Option 4: 3IR2I SId@ 3RIIAI

Correct Option : 3

Q36. DUUIISHT BT GIeIet Aloll DIV UV Sildlol DIl ferfde ?

Question ID: 104893

OptID: 417374 Opt Option 1: U9IId ST

OptID: 417375 Opt Option 2: 3\1591?@937112

OptID: 417376 Opt Option 3: PIIAIA
OptID: 417377 Opt Option 4: ATUDI oISt

Correct Option : 3

Q37 i state has got highest standing crop of seaweeds in India

Question ID: 104896

OptID: 417386 Opt Option 1: Gujarat

OptID: 417387 Opt Option 2: Tamil Nadu

OptID: 417388 Opt Option 3: Maharashtra

OptID: 417389 Opt Option 4: Orissa
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Correct Option : 2

Q38. Ictlertichl 9lg 9166 DIVIAT?

Question ID: 104933

OptID: 417534 Opt Option 1: UcTUeIol

OptID: 417535 Opt Option 2: UL
OptID: 417536 Opt Option 3: UcUeIol

OptID: 417537 Opt Option 4: UAUGIol

Correct Option : 3

Q39. 1001 DICIA6T Alol FRARI ......... ATl 830l ILGEIm SPISSIUG [Sider?

Question ID: 104878

OptID: 417314 Opt Option 1: JRIfHUT srivfct

OptID: 417315 Opt Option 2: fGRig a3
OptID: 417316 Opt Option 3: fA*dolIeIal 3ileic

OptID: 417317 Opt Option 4: 3Mf3rsfla e

Correct Option : 3

Q40. Which one of the following alternatives is not an 'adjective'?

Question ID: 104894

OptID: 417378 Opt Option 1: smart

OptID: 417379 Opt Option 2: smarter
OptID: 417380 Opt Option 3: smartest

OptID: 417381 Opt Option 4: smartly

Correct Option : 4

Q41. Sodium tripolyphosphate treatment of frozen prawns

Question ID: 104913

OptID: 417454 Opt Option 1: Reduces thaw drip

OptID: 417455 Opt Option 2: Prevents rancidity

OptID: 417456 Opt Option 3: Kills pathogenic bacteria

OptID: 417457 Opt Option 4: Improves flavour

Correct Option : 1

Q42 o, {8 ARl AoTs Sl Acloft Fudiell urt o3ci 38

Question ID: 104871

OptID: 417286 Opt Option 1: 3ITCBISIT GBI

OptID: 417287 Opt Option 2: I5flall fB3A

OptID: 417288 Opt Option 3: CIfeTAl AIG2
OptID: 417289 Opt Option 4: ATfGRIT BIUID

Correct Option : 3

Q43. 39 FIUR GG 5 (IR UAIU! 1 2{ST DI Dol BD I YUI DAL AR 30 HIVRY S 6 ART DI DBol il Il febedl fSaira
qui i

Question ID: 104855

OptID: 417222 Opt Option 1: 10

OptID: 417223 Opt Option 2: 13

OptID: 417224 Opt Option 3: 14
OptID: 417225 Opt Option 4: 15

Correct Option : 3
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Q44.

Once upon a time there was a professor. . He was very proud of his learning. One day he had to go to village twenty
miles away from his city. He set out on foot. After some distance he had to cross the river to go to village. He hired a
boat and got into it. The boatman was a villager and he was illiterate. The professor wanted to show off his
knowledge. When the boat started sailing, he asked the boatman if he knew Shakespeare, the great dramatist! The
boatman said, ‘No’ the professor laughed at his ignorance and told him that he had wasted his life. The boatman
kept silent. Now the boat was in the middle of the river. Suddenly there was a storm. It turned the boat upside
down. Both the boatman and the professor struggled for life in the water. The professor did not know swimming. He
was sure to be drowned. The boatman asked the learned man if he knew swimming. The professor sadly replied that

he didn't. The boatman laughed at him scornfully. He said, “Learned Sir, You have not only wasted your life but you

are also losing it”. Que: - Why did the professor laugh at the boatman?

Question ID: 104939

OptID: 417558 Opt Option 1: Because he knew shakespear

OptID: 417559 Opt Option 2: because he was a villager and he was illiterate.
OptID: 417560 Opt Option 3: Because boatman was ignorant and hence had wasted his life

OptID: 417561 Opt Option 4: Because baotman gives negative reply

Correct Option : 3

Q45.
Inevery country people imagine that they are the bestand the cleverest and the othersare not 50 good as they are. The
Englishman thinks that he and his country are the best; the Frenchman is very proud of France and everything French;
the Germans and ltalians think no end of their countries and many Indians imagine that India is in many ways the
greatest country in the world. This is all conceit. Everybody wants to think well of himself and his country. But really
there is no person who has not got some good in him and some bad. And in the same way there is no country which is
not partly good and partly bad. We must take the good wherever we find it and try to remove the bad wherever it may
be. We are of course most concerned with our own country, India. Unhappily it is in a bad why today and most of our
people are very poor and miserable. They have no pleasure in their lives. We have to find out how we can make them
happier. We have to see whatis good in our ways and customs and try to keepit, and whateveris bad we have to throw
it away. If we find anything good in other countries we should certainly take it. Que: The author of this passage seems
to be addressing mainly 1o .....

Ly

Question ID: 104940

OptID: 417562 Opt Option 1: all the India.
OptID: 417563 Opt Option 2: poor and miserable people in India.

OptID: 417564 Opt Option 3: the people of France, Germany, Italy and India

OptID: 417565 Opt Option 4: the Indians who can think and act for the betterment of India.

Correct Option : 4

Q46. Give a single word for "a person who eats all types of food."

Question ID: 104898

OptID: 417394 Opt Option 1: Herbivore
OptID: 417395 Opt Option 2: Carnivore

OptID: 417396 Opt Option 3: Omnivore

OptID: 417397 Opt Option 4: All rounder

Correct Option : 3

Q47. A poisonous shelled mollusc

Question ID: 104934

OptID: 417538 Opt Option 1: Green mussel

OptID: 417539 Opt Option 2: Conus
OptID: 417540 Opt Option 3: Xancus

OptID: 417541 Opt Option 4: Babylonia

Correct Option : 2
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Q48. Which of the following is a predatory catfish?
Question ID: 104916

OptID: 417466 Opt Option 1: Clarias batrachus

OptID: 417467 Opt Option 2: Lates calcarifer

OptID: 417468 Opt Option 3: Catla catla

OptID: 417469 Opt Option 4: Chanos chanos

Correct Option : 1

Q49.

FEA=AT HTpdld TgoT fohedy =epied 3mear?

Question ID: 104935

OptID: 417542 Opt Option 1: 13

OptID: 417543 Opt Option 2: 17

OptID: 417544 Opt Option 3: 15

OptID: 417545 Opt Option 4: 14
Correct Option : 3

Q50. can be used to reduce seepage losses from ponds.

Question ID: 104904

OptID: 417418 Opt Option 1: Bentonite

OptID: 417419 Opt Option 2: Zeolite

OptID: 417420 Opt Option 3: Carbamide

OptID: 417421 Opt Option 4: Hypochlorite
Correct Option : 1

Q51. The blood of freshwater fishes has an osmotic pressure of
Question ID: 104886

OptID: 417346 Opt Option 1: 300 mosm/lit

OptID: 417347 Opt Option 2: 200 mosm/lit

OptID: 417348 Opt Option 3: 400 mosm/lit

OptID: 417349 Opt Option 4: 100 mosm/lit

Correct Option : 1

Q52. Term used for back crossing to one of the parental lines
Question ID: 104887

OptID: 417350 Opt Option 1: Isogenic lines

OptID: 417351 Opt Option 2: Introgressive hybridization

OptID: 417352 Opt Option 3: Inter-racial hybridization
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OptID: 417353 Opt Option 4: Intergressive hybridization

Correct Option : 2

Q53. @I, PIGHIL, ollcd, 3ol AT SICIdIc doIoI 916G 3iIml.

Question ID: 104909

OptID: 417438 Opt Option 1: PIGEIT
OptID: 417439 Opt Option 2: Rrolei

OptID: 417440 Opt Option 3: DAT

OptID: 417441 Opt Option 4: ASI®I 916G ollat

Correct Option : 2

Q54. ~-—-meme- are generally used for production of cultchless spats.

Question ID: 104879

OptID: 417318 Opt Option 1: Polythene sheets
OptID: 417319 Opt Option 2: Coconut shells

OptID: 417320 Opt Option 3: Oyster shells

OptID: 417321 Opt Option 4: Roofing tiles

Correct Option : 1

Q55. The complex of protein with carbohydrate is known as

Question ID: 104900

OptID: 417402 Opt Option 1: Lipoprotein
OptID: 417403 Opt Option 2: Glycoprotein

OptID: 417404 Opt Option 3: Metalloprotein

OptID: 417405 Opt Option 4: Lisoprotein

Correct Option : 2

Qs56. fdemeatar e sic I8l 431 sNeI BRI S2ddl. SIeKd Sids [demelf e ao1i sadbt ucidrdt asiuft s2eft. wgpur gsiuft 1728
BRI SMo! SIctl. 7R U Sleldlet faemeid e fdl?

Question ID: 104851

OptID: 417206 Opt Option 1: 12

OptID: 417207 Opt Option 2: 22

OptID: 417208 Opt Option 3: 32

OptID: 417209 Opt Option 4: 14

Correct Option : 1

Q57. Glol JIPPISI [dg [&9I6! SIAI. PeuIeaR 33T 3RICICRIT AVRIICH 3{6lchdl 27 ADSId d 17 ADcIA ciSdld T
UDIDIRA 23 ADSIA TSI (IR AT JBIIK FUITIR -~

Question ID: 104852

OptID: 417210 Opt Option 1: 1:3

OptID: 417211 Opt Option 2: 3:2
OptID: 417212 Opt Option 3: 3:4

OptID: 417213 Opt Option 4: ATUD] olIET

Correct Option : 2

Q58. Which of the following fish belongs to family Stromateidae

Question ID: 104903

OptID: 417414 Opt Option 1: Rhincodon typus

OptID: 417415 Opt Option 2: Sardinella longiceps
OptID: 417416 Opt Option 3: Saurida tumbil

OptID: 417417 Opt Option 4: Pampus chinensis

Correct Option : 4
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Q59. Cold water fish culture can be undertaken at temperature
Question ID: 104905

OptID: 417422 Opt Option 1: More than 180C

OptID: 417423 Opt Option 2: Less than 180C

OptID: 417424 Opt Option 3: Above 300C

OptID: 417425 Opt Option 4: Both 1 and 2

Correct Option : 2

Q60. A product of incubation period in days and average temperature during incubation is called as ---------- .
Question ID: 104863

OptID: 417254 Opt Option 1: Latency period

OptID: 417255 Opt Option 2: Equilibrium time

OptID: 417256 Opt Option 3: Degree days

OptID: 417257 Opt Option 4: None of the above

Correct Option : 3

Q61. I sarferdbediet gobld ug sii@ar: 40, 39, 13, 12,5, 3, 1.

Question ID: 104907
OptID: 417430 Opt Option 1: 5

OptID: 417431 Opt Option 2: 6

OptID: 417432 Opt Option 3: 13

OptID: 417433 Opt Option 4: 12

Correct Option : 1

Q62. Udterdcbl Dluredt carehl e olrst ?

Question ID: 104927
OptID: 417510 Opt Option 1: STolldIS

OptID: 417511 Opt Option 2: HIEIS

OptID: 417512 Opt Option 3: IGIS

OptID: 417513 Opt Option 4: SfUIETS

Correct Option : 4

Q63. 33 31e2Tel d HTRAT UdUelol URHId IS 1siIa3icT I DRIBHIA U1 310ct Bl

Question ID: 104864
OptID: 417258 Opt Option 1: 3ol b 3TdrsT

OptID: 417259 Opt Option 2: 3ol fcb 3MI=T

OptID: 417260 Opt Option 3: J1cI fdb daIvit

OptID: 417261 Opt Option 4: J1c fdb &I

Correct Option : 4

Q64. Scientific name of short neck clam is

Question ID: 104924
OptID: 417498 Opt Option 1: Paphia malabarica

OptID: 417499 Opt Option 2: Tapes brugueiri

OptID: 417500 Opt Option 3: Perna viridis

OptID: 417501 Opt Option 4: Meretrix casta

Correct Option : 1

Q65. FRISIA D' oI 'ST' AT SISRAIGIA DRI FEUICAIA ?

Question ID: 104914

OptID: 417458 Opt Option 1: Zd2
OptID: 417459 Opt Option 2: ISIol

OptID: 417460 Opt Option 3: ADIEE

OptID: 417461 Opt Option 4: AU olIaT

Correct Option : 2

Q66. At 208 ¥ ] FolIcTc IUATPRIA foIHATUI SIICICRIT DIVIRIT ABIADIAIG®Iol HRAIAIA diiol ISl asd fSeil?
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Question ID: 104859

OptID: 417238 Opt Option 1:

4 g

OptID: 417239 Opt Option 2:
OptID: 417240 Opt Option 3: *

K
cﬁév

OptID: 417241 Opt Option 4: *

Correct Option : 2

Q67. ardl oadia uzareg Afrauct forgebt waveir sircfl.

Question ID: 104888

OptID: 417354 Opt Option 1: BA.9[DI

OptID: 417355 Opt Option 2: B SRIQIDI
OptID: 417356 Opt Option 3: B fAGRIID

OptID: 417357 Opt Option 4: BH. ISIRIIDI

Correct Option : 2

Q68. 7 a2 30T 4 RiSTol ATcdleT 3 Ta2 3Mf0I 2 RisTol el fdbedl 9166 3T ActleT 2

Question ID: 104877

OptID: 417310 Opt Option 1: 210

OptID: 417311 Opt Option 2: 1050

OptID: 417312 Opt Option 3: 25200
OptID: 417313 Opt Option 4: 21400

Correct Option : 1

Q69. BT ATDICTD SN 'Aelol BI 916G 428 3IAT 3IOT 'ATelar 31 916G 585 31T feIfSAIA, A2 AT 81 'eloldlol’ 81 916G I fTarar 2

Question ID: 104857

OptID: 417230 Opt Option 1: 5288

OptID: 417231 Opt Option 2: 2858

OptID: 417232 Opt Option 3: 2585
OptID: 417233 Opt Option 4: 5252

Correct Option : 2

Q70. We did this.(Change the voice.)

Question ID: 104930

OptID: 417522 Opt Option 1: This was done by all of us.

OptID: 417523 Opt Option 2: This has beendone by us.

OptID: 417524 Opt Option 3: This was done by them
OptID: 417525 Opt Option 4: This was done by us.

Correct Option : 4

Q71. 3Me1C Pl ... a1 gbiroft Jareflet smsar?

Question ID: 104921

OptID: 417486 Opt Option 1: A[GIOIRUT

OptID: 417487 Opt Option 2: JATSIAAT

OptID: 417488 Opt Option 3: RIUC

OptID: 417489 Opt Option 4: J€MT

Correct Option : 2

Q72. AT UGT9IER) 3ol SIrefl DIurdt 31613 AAlcT ? _aabb_abba b

Question ID: 104889

OptID: 417358 Opt Option 1:a, b, a

OptID: 417359 Opt Option 2: b, a, a

OptID: 417360 Opt Option 3: a,a, b

OptID: 417361 Opt Option4: b, a, b
Correct Option : 2

Q73. HAlBoIGIRI DIATG dliEll Aol DBIRI FBUIAIA?

Question ID: 104923
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OptID: 417494 Opt Option 1: [UARIE

OptID: 417495 Opt Option 2: JACCIUAT

OptID: 417496 Opt Option 3: CIIdDIATORT
OptID: 417497 Opt Option 4: oIcIIStl

Correct Option : 2

Q74. The species having highest production in the world is

Question ID: 104910

OptID: 417442 Opt Option 1: Peruvian Anchoveta

OptID: 417443 Opt Option 2: Alaskan Pollock

OptID: 417444 Opt Option 3: Chub Mackerel
OptID: 417445 Opt Option 4: Blue Whiting

Correct Option : 1

Q75. The Indian marine fisheries sector is characterized by

Question ID: 104895

OptID: 417382 Opt Option 1: Multigear fisheries

OptID: 417383 Opt Option 2: Multispecies fisheries

OptID: 417384 Opt Option 3: Multigear & multispecies fisheries

OptID: 417385 Opt Option 4: none of the above
Correct Option : 3

Q76. Fish stores energy in the form of

Question ID: 104928

OptID: 417514 Opt Option 1: Lactose

OptID: 417515 Opt Option 2: Glucose

OptID: 417516 Opt Option 3: Galactose

OptID: 417517 Opt Option 4: Glycogen
Correct Option : 4

Q77. In male live bearing fishes, anterior rays of -------- fin are modified into gonopodium.

Question ID: 104869

OptID: 417278 Opt Option 1: Dorsal

OptID: 417279 Opt Option 2: Pectoral

OptID: 417280 Opt Option 3: Pelvic

OptID: 417281 Opt Option 4: Anal
Correct Option : 4

78. 912 A = C?JIX%SI@IB—xﬁH %Zlimmﬁmaiﬂsﬂ%"
y y
Question ID: 104890

OptID: 417362 Opt Option 1: A=B

OptID: 417363 Opt Option 2: A 8I B USII cIalol

OptID: 417364 Opt Option 3: A 31IfOT B Fefier Jaer fddn A ot

OptID: 417365 Opt Option 4: SIZ x B y USII cIaIol 3RICT a2 A &1 B UgII AIST 3RIcT

Correct Option : 1

Q79. ... AT SRIc! [O1f3Te of eI Gl USRI Bl fGa=T ATSIRI D2URIIA 3ITelT?
Question ID: 104874

OptID: 417298 Opt Option 1: ABICHI et

OptID: 417299 Opt Option 2: CICIAIBIGZ MBIt

OptID: 417300 Opt Option 3: 3fer amieft

OptID: 417301 Opt Option 4: ARG ACCTIINIS UTT

Correct Option : 4

Q80. Jarctt f&eic=im srelidt 2Me=I ¥auI forasT d ferar chaid fe1al. "3IUeir o1 1ol
Question ID: 104873

OptID: 417294 Opt Option 1: 3ifeT €Y AT
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OptID: 417295 Opt Option 2: T Al DIol BT

OptID: 417296 Opt Option 3: AIAYATII FEIIcII IV

OptID: 417297 Opt Option 4: URICGIIcI U

Correct Option : 3

Q8. Deficiency of -------- gives rise to scoliosis and lordosis in fish
Question ID: 104884

OptID: 417338 Opt Option 1: Vitamin A

OptID: 417339 Opt Option 2: Vitamin B

OptID: 417340 Opt Option 3: Vitamin C

OptID: 417341 Opt Option 4: Vitamin D
Correct Option : 2

Q82. Masmin is the product prepared from
Question ID: 104926

OptID: 417506 Opt Option 1: Shark

OptID: 417507 Opt Option 2: Tuna

OptID: 417508 Opt Option 3: Whale

OptID: 417509 Opt Option 4: Sea cucumber

Correct Option : 2

Q83. Catch per unit effort data gives a measure of
Question ID: 104919

OptID: 417478 Opt Option 1: Relative stock abundance

OptID: 417479 Opt Option 2: Absolute stock abundance

OptID: 417480 Opt Option 3: Fishing effort

OptID: 417481 Opt Option 4: None of the above

Correct Option : 1

Q84. The larvae of mud crab pass through -------------------- zoeal stages before metamorphosing into megalopa stage.

Question ID: 104858

OptID: 417234 Opt Option 1: Four

OptID: 417235 Opt Option 2: Six

OptID: 417236 Opt Option 3: Seven

OptID: 417237 Opt Option 4: Five

Correct Option : 4

Q85. T wrote to Otto Frank.(Rewrite using present perfect tense.)

Question ID: 104899
OptID: 417398 Opt Option 1: I have written to Otto Frank.

OptID: 417399 Opt Option 2: I am writing to Otto Frank.

OptID: 417400 Opt Option 3: I have been writing to Otto Frank.

OptID: 417401 Opt Option 4: I had written to Otto Frank.

Correct Option : 1

Q86. "I'm on my way" she said.( Write in indirect form.)

Question ID: 104911
OptID: 417446 Opt Option 1: She said that she was on her way.

OptID: 417447 Opt Option 2: She told that she is on her way.

OptID: 417448 Opt Option 3: She told that she was on the road.

OptID: 417449 Opt Option 4: She exclamimed that she would be reaching shortly.

Correct Option : 1

Question ID: 104892
OptID: 417370 Opt Option 1: ‘dedIcil’

OptID: 417371 Opt Option 2: ‘d@omdl’
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OptID: 417372 Opt Option 3: ‘I@cIDI’

OptID: 417373 Opt Option 4: d@UIBI

Correct Option : 2

Q88. Uit 3rel BIVIRI AIqRIUIR fofagel IIdI dhaic fe1al. "2qu uf¥eet o2ul....... "

Question ID: 104870
OptID: 417282 Opt Option 1: Sfiq di@ i qgeol

OptID: 417283 Opt Option 2: SfiAIc 16T BIVT

OptID: 417284 Opt Option 3: SIid HISATT USUL

OptID: 417285 Opt Option 4: Sfiaretr Sfia Gur

Correct Option : 2

Q89. UDI ATDICID HNA CAT I 9166 DDBBUU 3Rl RIS, A= I $1IN PIN 31 916G A f181et 2

Question ID: 104867
OptID: 417270 Opt Option 1: OOHHMM

OptID: 417271 Opt Option 2: QQJIOO

OptID: 417272 Opt Option 3: QQHHOO

OptID: 417273 Opt Option 4: QQJIIMM

Correct Option : 2

Q90. SIRAI SIRGIAI GI5T ; FIAI AT DRI?

Question ID: 104925
OptID: 417502 Opt Option 1: UMD

OptID: 417503 Opt Option 2: ST

OptID: 417504 Opt Option 3: UCTCUI

OptID: 417505 Opt Option 4: SIAId

Correct Option : 2
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